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Solution 

 

 (i) Expressing the  r-formula in terms of  x ,  
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  Let  x = r + 2 ,  when  x = 1 ,  1 = r + 2 1−=⇒ r  

                          when  x = n ,  n = r + 2 2−=⇒ nr  
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 Replacing all  n  with  n + 2 , 
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 Removing the terms with  r = −1  and  r = 0  from the summation,  
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 (ii) Expressing the  r-formula in terms of  x ,  
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  Let  x = r − 1 ,  when  x = 1 ,  1 = r  − 1 2=⇒ r  

                          when  x = n ,  n = r  − 1 1+=⇒ nr  

 



  

 
( ) ( )2

1

2
22 1

1
1

11)1(

1)1(2

+
−=

+−−

+−
∑

+

= nrr

r
n

r

 

 

 Replacing all  n  with  n − 1 , 
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